Factoriser — saison 1 -

Exercice 1:
A=3x+3y B =7x+ 12x C=7a+7
D =6y + y? E=4a+12 F=6-15x
(D= (E+vp =0 - (+0l=q (T +0)/ =D ‘%= T+ =¥
Exercice 2 :
G=(xx-3)(2x+1)+7(2x+1) H = (x+1)(x+2) + 5(x+2) I =5(1+2x) + (x+1)(1+2x)
J = (x+1)(3-x) + (x+1)(2+5x) K= (x+2)(x+1) + (x+2)(7x-5) L =(3t+4)(t-2) + (t+7)(3t+4)

(CHDFE+HE) =T
AT-XgNT+20)p = (F-X@N7+%) = (Xp+CHT+X) = £ 5 X7+ (0+%) = [ £ (7+20+%) = H {([+x7(p+x) = D

Exercice 3 :
M = (3-x)(4x+1) — 8(4x+1) N = 6(3x-2) — (3x-2)(x-4) P = (x- 6)(2-x) — (2-x)(3+4x)
Q = (x+3)% — (x+3)(5+x) R = (2x+1)* - (3x+1)(2x+1) S =(2x+1)*— (x-3)(10x+5)

(OT+3XENT+x7) = § S (T+x7)xe = () T+x7) = ¥
(E+X7-=(7-NE+%) = O (E+0(-T)g- = (6-XEN>-T) = £ (0T +3NT-XE) = N (O-C-HT+x8) = W

Factoriser — saison 1 -

Exercice 1 :
A=3x+3y B=7x+12x C=7a+7
D =6y +y? E=4a+12 F=6-15x

(C-TeE=d(E+v)p =0 " (4+0i=q (1 +0)/ =D ‘%= T+ =V
Exercice 2 :
G=(x-3)(2x+1)+7(2x+1) H = (x+1)(x+2) + 5(x+2) I = 5(1+2x) + (x+1)(1+2x)
J = (x+1)(3-x) + (x+1)(2+5X) K= (x+2)(x+1) + (x+2)(7x-5) L =(3t+4)(t-2) + (t+7)(3t+4)

(CHD(P+HE) =T
NT-XTNT+0)p = (FXQNT+%) = © (Xp+CHT+X) = £ 5 X7+ D0+%) = [ 5 (7+0(0+%) = H ([+x7(p+X) = D

Exercice 3 :
M = (3-x)(4x+1) — 8(4x+1) N = 6(3x-2) — (3x-2)(x-4) P = (x- 6)(2-x) — (2-x)(3+4x)
Q = (x+3)? — (x+3)(5+X) R = (2x+1)* - 3x+1)(2x+1) S =(2x+1)*— (x-3)(10x+5)

(OT+XE-NT+3x7) = § 5 (T+x7)%0 = (N T+x7) = ¥
(E+X7-=(7-NE+X) = O ¥ (E+0(-T)E- = (6-XE-NXT) = d F (0T +NT-XE) = N - (-C-HT+38) = W



